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Вопросы  контрольной  работы № 2 для студентов отделения заочного обучения специальности


Экономика и бухгалтерский учет 

Контрольная работа № 2
Вариант 1

I. Active vocabulary

a top manager – менеджер высшего звена
to choose (chose, chosen) – выбирать
a chairman – председатель, руководитель
to lose (lost, lost) – терять, (зд.) проигрывать
an election – выборы, избирательная компания
to increase – увеличивать
a vote – голос на выборах
a number of – ряд
to join – соединять, присоединяться
to leave – оставлять, покидать
to award – награждать, присуждать
a knighthood – титул, рыцарское звание
contribution – вклад
currently – в настоящее время
including – включая
to appoint – назначать (на должность)
Text

Sir Peter Parker – A Man of Many Parts
I. Translate the text into Russian.

 Sir Peter Parker is well known as a top manager. He finally chose a career in business but there were always other things he wanted to do as well. 
He studied history at Oxford University between 1947 and 1950s, but he had many other interests. Не wanted to be a sportsman: he played rugby for the University team and for his home town. He also wanted to be an actor and, when he was a student, he acted in a lot of plays. He wanted to be a politician – in the same year, he was chairman of the University Labour Club. Three years later he was a candidate for parliament in his home town, Bedford. He lost the election, but he increased his party’s vote.
In 1956, Peter Parker organized a big international conference on “The Human Problems of Industry” – the chairman was Prince Philip. He worked as a manager for a number of companies during the 1950s and 1960s, and later became well known to the public as chairman of British Rail. He joined British Rail in 1976, and left in 1983. In 1978, he was awarded a knighthood by the Queen, and became Sir Peter Parker. He received another award from the Queen in 1993 for his “contribution to public life”.
He is currently Chairman of several companies, including Mitsubishi Electric (UK), who appointed him in 1984. He was the first non- Japanese to become chairman of a Japanese company. In 1991, the Japanese government awarded him the “Grand Cordon of the Order of the Sacred Treasure”.

He wrote his autobiography, For Starters, in 1989. 
II. Find English equivalents to the following Russian words and word - combinations.
Хорошо известный менеджер, родной город, проиграть на выборах, увеличить количество голосов своей партии, ряд компаний, быть удостоенным премии, получить награду, вклад в общественную жизнь, руководитель компании.

III. Answer the questions on the text.

1. What is Sir Peter Parker?

2. What did he study at Oxford University?

3. What career did he choose?

4. What other interests did he have?

5. He was a candidate for parliament in his home, wasn’t he?

6. What did he organize in 1956?

7. What did he do during 1950s and 1960s?
8. What kind of award did he receive in 1993?

9. What position has he currently got?
IV. Read the text again. Agree or disagree with the following statements. 

1. Sir Peter Parker is one of the best-known business people in Russia.

2. He studied Chemistry at the University.

3. He wanted to become an actor, a sportsman and a politician.
4. He was a candidate for parliament in his home town and won the election.

5. Prince Philip was the chairman at a big international conference on “The Human Problems of Industry”.
6. Sir Peter Parker was Chairman of British Rail Industry for seven years.

7. He is currently Chairman of Mitsubishi Electric (UK).

V. Complete the sentences with the information from the text. 

1. Sir Peter Parker chose a career in …

2. Between 1947 and 1950 he studied …

3. In his youth he wanted to become…

4. He lost the election and increased …

5. During 1950s and 1960s he worked as…
6. In 1993 he received an award from the Queen for…

7. He was the first non-Japanese to…

VI. Make the sentences negative and interrogative.

1. Sir Peter Parker is a well-known top manager.

2. He studied at Oxford University.
3. He was Chairman of the University Labour Club.

4. He joined the British Rail in 1976.

5. He is currently Chairman of several companies.

6. Sir Peter Parker wrote his biography in 1989.
VII. Open the brackets and use the correct tense form.

1. The manger usually (to receive) guests in his office.

2. Don’t bother him! He (to receive) his partners at the moment.
3. He (to join) the party 3 years ago.

4. Mr. Parker (to leave) the British Rail in 1983.

5. In 1980 he (to lose) the election.
6. He (to be) President of a big company.

VIII. Insert correct prepositions where necessary.
1. Jenny chose her career … military medicine.

2. Peter and Paul study … London University.

3. He played football … the University team.

4. His brother worked as an engineer … a big Japanese company.

5. He received the award for his “contribution … public life”.

6. He became well-known … the public as Chairman of British Rail.

IX. Write information about yourself according to the plan below. 

	Place of birth:
	

	Place of education:
	

	Main subjects at school/University:
	

	Date of finishing education:
	

	First job:
	

	Starting date of first job:
	

	Date of joining present company:
	

	Date of starting present job:
	


X. Speak about yourself.

Контрольная работа № 2

Вариант 2

I. Active vocabulary:

rare – редкий
to resign – уходить в отставку, оставлять пост
to earn a salary –получать жалованье
to make a lot of money – зарабатывать деньги
own – свой, собственный
to afford – (быть в состоянии) позволить себе
immediately – немедленно
to spend (spent-spent) – тратить
to save – (зд.) экономить, копить
to invest – вкладывать
in total – в итоге, в целом
to specialize in – специализироваться (в, на)
to lend (lent-lent) – одалживать, давать взаймы
respectable – респектабельный, приличный
to owe – быть должным (кому-либо), задолжать
an interest rate – ставка процента 
to rise (rose-risen) – подниматься
to reach – достигать
a share – акция
to be worth smth – стоить
a loan – заем, ссуда
to borrow – занимать, брать взаймы
a reference – рекомендация

Text
Making Money out of Money
 I/Translate the text into Russian.

For seven years, Kenshin Oshima had a very good job at the firm Mitsui and Co. But, at the age of 29, he did something very rare for a Japanese manager in his position – he resigned.

Oshima earned a good salary at Mitsui, but he wanted to make a lot of money, and to be very rich he needed to have his own company. He couldn’t afford to start a company immediately but during his years at Mitsui he spent very little money, and saved as much as he could.

 In 1978, he invested his money, $ 236,500 in total, in his new company, Shohkoh Fund and Co. Shohkoh Fund specialized in lending money to businesses, but in small sums. This decision was a risk, as money – lending by private companies was not a respectable job in 1978. His client was a firm in Tokyo, which paid back the money that it owed at an interest rate of 24 %.  
 But his idea was good: his profits rose by 25 % a year, and reached $ 38.5 million in 1992. He owns 80 % of Shohkoh, and his shares in the company are now worth $ 997 million.
So, Oshima is now a billionaire, or nearly, but his strategy for the company is still the same: even now he specializes in smaller loans (a typical client borrows only $40,000), and he personally examines the references of every new client.
II. Find English equivalents to the following Russian words and word - combinations.

В возрасте 29 лет, оставить пост, зарабатывать много денег, основать компанию, вкладывать деньги, одалживать деньги фирмам, небольшие суммы денег, прибыль выросла на 25 %, специализироваться на небольших ссудах, изучать рекомендации, позволить себе основать компанию.

 III. Answer the questions on the text.

1. When did Kenshin Oshima join Mitsui and Co.?

a. At the age of 22.

b. At the age of 29.

c. In 1978.
2. Why did he resign from his job?

a. Because his salary was very high.

b. Because he wanted to work for another company.

c. Because he wanted to earn  lot of money.

3. Why didn’t he start his company before 1978?
a. Because he spent a lot of money.

b. Because he didn’t want to be rich.

c. Because he didn’t have enough money.

4. Where did he get the money to start his business?
a. He saved money from his salary.

b. He borrowed it from a bank.

c. A friend lent it to him.

5. What does him company do?

a. It owes money.

b. It lends money.

c. It borrows money.

IV. Read the text again. Agree or disagree with the following statements.   

1. Kenshin Oshima worked for Mitsui and Co. for 5 years.

2. He resigned from Mitsui and Co. because of his poor health.

3. During his years at Mitsui he tried to save as much money as he could.

4. It was a great risk for Kenshin Oshima to start a business of his own.

5. Money-lending by private companies was a very respectable job in 1978.

6. In 1992 his business was good, and his profits rose by 25% a year.

7. Now his company specializes in selling oil.

V. Complete the sentences with the information from the text. 

1. Oshima earned a …

2. He needed to have …

3. He couldn’t afford to …

4. Shohkoh Fund specialized in …

5. His first client, a firm in Tokyo, paid back the money at an …

6. His profits rose by …, and reached …

7. Kenshin personally examines …

VI. Make the sentences negative and interrogative.

1. Kenshin had a very good job at the firm Mitsui and Co.

2. He wanted to make a lot of money.

3. In 1978, he invested $236,500 in his new company.

4. His decision was a risk.
5. His company lends money.

6. His shares in the company are now worth $997 million.

VII. Open the brackets and use the correct tense form.

1. He always (to borrow) money and never (to return) it.

2. I (to owe) you anything?

3. Look! The sun (to rise).

4. He could start his own company when he (to earned) enough money.
5. When he (to resign)?

6. I (to save) the money now because I want to go to the South in summer.

VIII. Insert correct prepositions where necessary.

1. Kenshin invested his money, $236,500 … total, in his new company.
2. Shohkoh Fund specialized … lending money … businesses.

3. Money-lending … private companies was a respectable job.
4. They paid back the money … an interest rate … 24 %.

5. His profits rose … 25 % … a year.

6. His strategy … the company is still the same.

IX. Complete this text about yourself. Add extra details if you need to.
- I was born in …

- I studied at…….

- My main subjects at school/University were…

- I finished my studies … ago, in …

- … later, I got my first job. I worked for … as a …

- I joined my present company … ago, in …

- I got my present job … later, in …

 X. Speak about yourself.

Контрольная работа № 2

 Вариант 3

I. Active vocabulary.

of Italian origin – родом из Италии
to emigrate – эмигрировать
clothing – одежда
to move to – (зд.) переезжать
successful – успешный
quality – качество
to be disappointed – быть разочарованным
to return – вернуться
to own – иметь, владеть
to manufacture – производить
to produce – производить
hand-made – ручной работы
to praise – хвалить
to taste – пробовать (на вкус)
to establish – основывать, учреждать
confectionery – кондитерский
by chance – случайно
to express – выражать
a sample – образец
astonishment – изумление, удивление
an order – (зд.) заказ
ambitious – честолюбивый
to extend – расширять
to expand (into) – расширяться, развиваться
Text

Chocolate Business

Of Italian origin, Sylvana emigrated to England from Lugano, Switzerland, with her family when she was ten years old. Later she married Pierre, who was also Swiss, and worked in his designer clothing business in London. In 1980, they moved to Oxford and opened a French style restaurant.
The restaurant was very successful, but Sylvana found it difficult to get high quality after-dinner chocolates in England. She was so disappointed about this that she decided to return to Lugano and learn how to make them herself. A friend of hers owned a large chocolate factory there, and he happily showed her how chocolates were manufactured. When Sylvana came back to England she started producing hand-made chocolates for her restaurant. She used top-quality ingredients, and the chocolates were praised by all who tasted them.

The idea of establishing a hand-made confectionery business came almost by chance. One day they contacted a famous chain of quality food stores in London. The firm’s chief buyer expressed interest in their products, and the following week they went to London with their samples. To their astonishment, they left the buyer’s office with an order for 30 kilos!  
Today, the chocolates are selling well in the UK, but Sylvana and Pierre are ambitious: they would like to extend their business. They would also like to expand into Europe as soon as possible.
II. Find English equivalents to the following Russian words and word - combinations.

       Родом из Италии, ресторан пользовался успехом, она была разочарована, высококачественный шоколад, владеть шоколадной фабрикой, сделанный вручную шоколад, изготавливать шоколад, идея появилась случайно, проявить интерес к продукции, заказ на 50 кг, развивать бизнес. 
III. Answer the questions on the text.

1. What business did Sylvana start in Oxford?
2. What was she so disappointed about that she decided to go back to Lugano?

3. Who taught her how to manufacture chocolates?

4. How did the idea of establishing a hand-made confectionery business come?

5. How big was the first order for their chocolates?
6. How is business going on now?

7. What are the plans for the future? 

IV. Read the text again. Agree or disagree with the following statements.
1. Sylvana is of French origin.
2. Sylvana and Pierre started a clothing business when they moved to Oxford.

3. It was not easy to find high quality after-dinner chocolates in England.

4. Her husband went to Lugano to learn how to make chocolates.

5. Their hand-made chocolates were very popular in England.
6. The first order for their chocolates was for 30 kilos.

V. Complete the sentences with the information from the text:

1. Pierre and Sylvana moved to Oxford and…

2. Sylvana found it difficult to …

3. Sylvana’s friend in Lugano happily showed her how…

4. Her chocolates were praised by everybody, because she used …
5. One day they contacted a famous …

6. Sylvana and Pierre are ambitious and would like to …

VI. Make the sentences negative and interrogative

1. The restaurant was very successful.

2. Sylvana’s friend owned a large chocolate factory.

3. She used top-quality ingredients for her chocolates.
4. The chocolates were praised by all who tasted them.

5. The chocolates are selling well in the UK.

6. They would like to expand into Europe.

VII. Open the brackets and use the correct tense form.

1. They need help, because they (to move) to a new apartment.

2. Everybody (to praise) their chocolates because they are of high quality.
3. Mr. Fitzgerald (to own) a big company some years ago.

4. Our President (to contact) the manager of that company last month.

5. The director (to examine) very important documents at the moment.

6. They (to sell) their chocolates in many shops of the town.
VIII. Insert correct prepositions where necessary
1. Sylvana is … Italian origin.

2. In 1980, they moved … Oxford.

3. The idea of establishing their own business came … chance.

4. The firm’s chief buyer expressed interest … their product.
5. They left the buyer’s office … an order … 30 kilos.
6. Sylvana and Pierre would like to expand … Europe as soon as possible.
IX. Write a story about your friend using the following plan:
Place of birth:
Place of education:

Main subjects at school/University:

Date of finishing education:

First job:

Starting date of first job:

Date of joining present company:
Date of starting present job:
X. Speak about your friend.

Контрольная работа № 2

Вариант 4

I. Active vocabulary.
to found – основывать, создавать
a turnover – товарооборот
staff – штат служащих
to grow (grew-grown) – расти
exploration – исследование, изучение
to look for – искать
a division –отдел, подразделение
rapidly – быстро
retirement – отставка, уход на пенсию
to attend – посещать
a Master’s degree – степень магистра
to design –разрабатывать, конструировать
a steam turbine – паровая турбина
a device – устройство, прибор
Text 

Texas Instruments

 Over 60 years ago a British-born businessman, Cecil H Green, helped to found Texas Instruments, one of North America’s largest and most important electronics companies. The company today has a turnover of about $8 billion, and more than 400,000 staff. 

Texas Instruments was established in 1941; it grew out of an oil exploration company, Geophysical Service. Green joined the company in 1932 and spent several years looking for oil in Texas. With the start of the Second World War, the company’s electronics division grew rapidly. Green and three colleagues bought the business in 1941 for $ 300,000. It was renamed Texas Instruments in 1951. Green was a director until his retirement in 1975.  

Cecil Howard Green was born near Manchester, England. His father, Charles, and mother, Maggie, immigrated to Canada when Green was less than two years old, and the family often moved through the USA and Canada as Charles looked for work.

Green attended high school in Vancouver and entered the University of British Columbia in 1918. He completed his studies at Massachusetts Institute of Technology in Boston with a Master’s degree in electrical engineering. His first job was to design steam turbine generators for the General Electric Company but in two years he left to join the Raytheon Manufacturing Company to work on small electronics devices.  
Between 1928 and 1932, Green worked for a number of engineering companies before the final move to Geophysical Service.  

Cecil Howard Green died in 2003 at the age of 102. 
II. Find English equivalents to the following Russian words and word - combinations.
        Основать компанию, товарооборот в 8 миллиардов долларов, отдел электроники, компания была переименована, искать работу, степень магистра по электротехнике, инжиниринговая компания, работать над электронными приборами.

III. Answer the questions on the text: 

1. What is Texas Instruments? 

2. What company did it grow out?

3. What's the turnover of the company today?

4. When did the company grow rapidly?

5. What's Cecil Green's education?

6. What was his first job?

7. What company did he join when he left the General Electric Company?

8. How old was he when he died? 

IV. Read the text again. Agree or disagree with the following  statements: 

1. Cecil H Green helped to found one of the largest electronics companies. 

2. The company is very successful today. 

3. Texas Instruments grew out of a TV – producing company.

4. Green was a director of Texas Instruments until his death. 

5. Green completed his studies with a Master's Degree in medicine. 

6. His first job was to design steam turbine generators for the General Electric 

    Company.

V. Complete the sentences with the information from the text: 

1. The company has a turnover of ……. 

2. Texas Instruments grew out of ……..

3. Charles's mother and father immigrated to Canada when …..

4. The family often moved …… 

5. Green attended …… 

6. Between 1923 and 1932, Green …… 

VI. Make the sentences negative and interrogative:

1. Texas Instruments was established in 1941. 

2. Green joined the company in 1932. 

3. The company has a turnover of about $8 billion today. 

4. Green attended high school in Vancouver. 

5. The family immigrated to Canada. 

6. Cecil Howard Green died in 2003. 

VII. Open the brackets and use the correct tense form. 

1. My relatives (to immigrate) to the USA a few years ago. 

2. What you (to look for)?

3. Jessica (to attend) every lecture of this professor. 

4. He currently (to work) on a very interesting project. 

5. John (to leave) the company three years ago. 

6. They (to grow) a lot of vegetables in their garden. 

VIII. Insert correct prepositions where necessary: 

1. Texas Instruments grew … … an oil exploration company. 

2. Green spent several years looking …. oil in Texas. 

3. The family often moved … the USA and Canada. 

4. Green entered … the University of British Columbia in 1918. 

5. He joined the Raytheon Manufacturing Company to work … small devices. 

6. Green worked … a number … engineering companies. 
IX. Complete this text about your friend. Add extra details if you need to.

- My friend was born in … 

- He studied at … 

- His main subjects at school/University were …

- He finished His studies … ago, in …

- … later, he got his first job. He worked for …as a …. 

- He joined his present company …ago, in… 

- He got his present job…later, in …

X. Speak about your friend. 

Контрольная работа № 2

Вариант 5
I. Active vocabulary: 

successful – преуспевающий             to congratulate on – поздравлять с чем – то  

great – (зд.) опытный, искусный       to reprimand – делать / объявлять выговор  

to characterize – характеризовать      to foresee – предвидеть  

staff –  штат сотрудников                   to anticipate – предугадывать,
                                                                                   предчувствовать 

to make progress – делать успехи       to run – (зд.) управлять, руководить  

to perform – выполнять                       to judge – судить  

to handle – управлять, справляться    approach – подход 

essential – существенный                    to create – создавать, творить 

head office – главный офис                 activity – деятельность 

to accept – принимать                          to master – овладевать, усваивать 

responsibility – ответственность
II. Read and translate the text.

How to be a Great  Manager

At the most general level, successful managers can be characterized in the following way. 

- They are happy when their staff make progress in the company. 

- They are cheerful optimists, who try to be positive when times are difficult. 

- They do not promise more than they can perform. 

A good manager is someone who knows how to handle staff well. 

Here are some essential tasks of an effective manager. 

Great managers accept  blame: When the boss from head office visits and expresses displeasure, the great manager immediately accepts full responsibility. They usually tell the head office if any of their staff make mistakes. In every day life, the best managers constantly remember that they selected their people, they are responsible for them and they should have developed them. 

Great managers give praise: Praise is probably the most under – used management tool. Great managers always try to catch their people doing something right, and congratulate them on it. Managers who regularly give praise are in a much stronger position to criticize or reprimand poor performance. 

Great managers can foresee: Very few people are comfortable with the idea that they will be doing exactly what they are doing today in 10 years' time. Great managers anticipate people's dissatisfaction. 

Great managers judge on merit: It's much more difficult than it sounds. Suspicions of discrimination or favoritism are fatal to the smooth running of any team, so the great manager accepts this as an aspect of the game and tries to work on it hard. 

Great managers make things happen: The old fashioned approach to management was rather like the old fashioned approach to child - raising: ”Go and see what the children are doing and tell them to stop it!” Great managers believe that their people work in their interests and do everything they can to create an environment in which people feel free to express themselves. 

Great managers make themselves redundant: Great managers learn new skills and acquire useful information from the outside world, and then immediately pass them on to the other members of the team. Great managers are constantly looking for higher – level activities to occupy their own time, while passing on tasks they have already mastered.  

III. Find English equivalents to the following Russian words and word – combinations. 

Штат сотрудников, преуспевающий менеджер, главный офис, управлять штатом, важные задачи, выражать недовольство, хвалить, совершать ошибки, предчувствовать недовольство, быть неизбежным, старомодный подход, выражать себя, создавать атмосферу, приобретать новые умения, передавать задания другим членам команды. 

V. Answer the questions on the text. 

1. How can successful managers be characterized?

2. What is a good manager?

3. What essential tasks of a good manager can be emphasized?

4. Who accepts full responsibility in the company for the mistakes of the staff?

5. What is the most under – used tool in management?

6. How does a manager help people to express themselves?

7. Great managers always learn new skills, don't they? 

8. Whom do they pass on the tasks they have already mastered? 

V. Read the text again. Agree or disagree with the following statements.

Successful managers … 

1. are proud of the growth of their people. 

2. try to be positive when there are problems in the company. 

3. praise their staff as often as they can. 

4. never dislike any member of their staff. 

5. concentrate on their employees' strong points. 

6. do not want their people to express themselves. 

7. enjoy new challenges. 

VI. Complete the sentences with the information from the text. 

1. Great managers are happy when their staff … 

2. A great manager is someone who knows how … 

3. Praise is the most under – used … 

4. Managers who regularly praise the staff are in a stronger position to … 

5. Great managers anticipate… 

6. Discrimination or favoritism is fatal to … 

7. Great managers want their people to feel free … 

8. Great managers are constantly looking for …. 

VII. Make the sentences negative and interrogative. 
1. Great managers are cheerful optimists. 

2. A good manager handles the staff well. 

3. A manager accepts full responsibility. 

4. The best managers remember that they selected their people. 

5. Great managers give praise. 

6. Great managers learn new skills and acquire useful information. 

7. They are constantly looking for higher – level activities. 

8. People feel free to express themselves. 

VIII. Insert correct prepositions where necessary. 
1. A good manager knows how to handle … staff well.

2. Managers congratulate their people … their success. 

3. People seldom know what they will be doing … 10 years' time. 

4. Great managers judge … merit. 

5. Favoritism is fatal … the smooth running … any team 

6. Great managers try to avoid the old fashioned approach … management. 

7. Managers acquire useful information … the outside world. 

8. Best managers pass … tasks… the other members … the team. 

9. Great managers are responsible … the progress their staff make. 

IX. Translate the sentences from Russian into English. 

1. Опытные менеджеры принимают вину на себя. 

2. Хороший менеджер знает, как управлять своим штатом сотрудников. 

3. Менеджер объявляет выговор за плохое выполнение работы. 

4. Опытные менеджеры создают атмосферу, в которой люди чувствуют свободу для самовыражения. 

5. Мы не знаем, чем мы будем заниматься через 10 лет. 

6. Хороший менеджер передают свои знания и умения другим членам команды. 

X. Imagine you are a manager of a big firm. Write about your company. 

Контрольная работа № 2

Вариант 6
I. Active vocabulary: 

integrating – объединение
to set objectives – устанавливать цели 

precise – точный 

to allocate – размещать 

manageable – управляемый 

unit – (зд.) вид деятельности

to attain – достигать 

team – команда 

to supervise – контролировать 

performance – работа 

subordinates – подчиненные 

II. Read and translate the text. 
What is Management?
Peter Drucker, the well – known business professor and consultant, suggests that the work of a manager can be divided into the planning, organizing, integrating (motivating and communicating), measuring, and developing people. 

•  First of all, managers (especially senior managers such as company chairmen and directors) set objectives, and decide how their organization can achieve them. This involves developing strategies, plans and precise tactics, allocating resources of people and money. 

•  Secondly, managers organize. They analyze and classify the activities of the organization and the relation among them. They divide the work into the manageable activities and individual jobs. They select people to manage these units and perform the jobs. 

•  Thirdly, managers practice the social skills of motivation and communication. They also have to communicate objectives to the people responsible for attaining them. They make the people who are responsible for performing individual jobs form teams. 

     They make decisions about pay and promotion. As well as organizing and supervising the work of their subordinates, they have to work with people in other areas and functions. 

•   Fourthly, managers have to measure the performance of their staff, to see whether the objectives are being achieved. 

•   Lastly, managers develop people – both their subordinates and themselves. 

III. Find English equivalents to the following Russian words and word – combinations. 

     Председатель компании, вовлекать развивающие стратегии, классифицировать действия организации, индивидуальные рабочие места, навык общения, продвижение по службе, работа штата.

 IV. Answer the questions on the text. 

1. Who suggests that a work of a manager can be divided into several aspects? 

2. What are the aspects of the work of a manager? 

3. Is it easier to set objectives or to organize the work of the staff? Why? 

4. How do managers organize the activities of the company? 

5. Have you ever directed the work of big stuff?

6. Who forms teams? 

7. Must the managers measure the performance of their staff? Why? 

8. How can managers develop their subordinates and themselves?

V. Read the text again. Agree or disagree with the following statements. 
1. Peter Drucker suggests that a work of a manager can be divided into planning, organizing and negotiating with people.

2. Senior managers set objectives. 

3. Any organization can achieve objectives through developing strategies, plans and precise tactics, allocating resources of people and money. 

4.  Managers set the activities of the organization and the relation among them. 

5.  Managers never select people to manage the set objectives. 

6.  People are organized in teams to attain goals. 

7.  Managers have to measure the performance of their staff to see whether their orders are being carried out. 

VI. Complete the sentences with the information from the text. 

1. Peter Drucker suggests that the work of a manager can be divided … 

2. Managers set objectives and decide how … 

3. This involves developing plans and allocating … 

4. Managers divide the work into … 

5. Managers also must communicate objectives to the people … 

6. Managers have to measure … 

7. Managers develop … 
VII. Make the sentences negative and interrogative. 

1. Peter Drucker suggests that the work of a manager can be divided into planning and organizing.

2. Managers decide how their organization can achieve the objectives. 

3. They can divide the work into the manageable activities and individual jobs. 

4. They must select people to manage the units and perform the jobs. 

5. They make the people form teams. 

6. Managers must see whether their objectives are being achieved. 

7. Managers have to develop people and themselves. 

VIII. Translate the sentences from Russian into English. 

1. Питер Друкер предлагает разделить работу менеджера на планирование, организацию и объединение. 

2. Председатели компаний и директора устанавливают цели и следят за тем, как их достигают. 

3. В установку целей входят стратегии, планы и точная тактика. 

4. Менеджеры анализируют и классифицируют действия организации. 

5. Они подразделяют работу на управляемые действия и индивидуальные 

    задания.

6. Они должны сообщить цели людям, ответственным за их достижение. 
IX. Write about the aspects of management, the points you agree and disagree with. 

X. Speak about a famous manager and how he realizes aspects of management. 
Контрольная работа № 2

Вариант 7
I. Active vocabulary: 

consumer requirements – запросы потребителя 

to evaluate – оценивать 

long – term – долгосрочный 

objective – цель 

sales volume – объем продаж 

innovation – новшество 

selection – выбор 

opportunity – возможность 

key – (зд.) основной 

to take time – уделять время 

decision – making – принятие решений 

II. Read and translate the text. 

Marketing Management
Management is a function of planning, organizing, coordinating, directing and controlling. Any managerial system, at any managerial level, is characterized in terms of these general functions. 

Management is a variety of specific activities. Marketing management refers to a broad concept covering organization of production and sales of products, which is based on consumer requirements research. All companies try to look beyond their present situation and develop a long – term strategy to meet changing conditions in their industry. Marketing management, therefore, consists of evaluating market opportunities, selecting markets, developing market strategies, planning marketing tactics and controlling marketing results. 

Strategic planning includes defining the company's long – term objectives as well as specific objectives, such as sales volume, market share, profitability and innovation, and deciding on financial, material and other resources necessary to achieve those objectives. 

In problems of market selection and product planning, one of the key concepts is that of the Product Life Cycle. That products pass through various stages between life and death (introduction – growth – maturity - decline) is hard to deny. Equally accepted is the understanding that a company should have a mix of products with representation in each of these stages. Companies can make far more effective marketing decisions if they take time to find out where each of their products stands in life circle. 

However, the concept of the product life circle seems frequently forgotten in marketing planning, which leads to wrong decision-making. 

III. Find English equivalents to the following Russian words and word – combinations. 

Управление маркетинга, производство и продажа продукции, развитие рыночных стратегий, стратегия планирования, объем продаж, доходность, цикл долговечности изделия.

IV. Answer the questions on the text. 
1. What is any managerial system characterized by?

2. What is marketing management?

3. Why do all companies need to develop a long – term strategy?

4. What are the aspects of strategic planning?

5. Why is the Product Life Cycle considered one of the key concepts in marketing?

6. Do the managers always take into consideration the concept of the product life 

    circle?

V. Read the text again. Agree or disagree with the following statements. 

1. Any managerial system is characterized only by directing and controlling. 

2. Management is a variety of usual activities. 

3. Marketing management refers to buying of products. 

4. Some companies try to develop a long-term strategy to meet changing conditions in their industry. 

5. Marketing management consists of developing market strategies and planning marketing tactics. 
VI. Complete the sentences with the information from the text. 

1. Marketing management refers to … 

2. All the companies try to look beyond their present situation and … 

3. Marketing management, therefore, consists of … 

4. Strategic planning includes … 

5. That products pass through various stages … 

6. Companies can make far more effective decisions … 
VII. Make the sentences negative and interrogative. 
1. Marketing management refers to a broad concept covering organization of production and sales of products.

2. Any managerial system is characterized in terms of the general functions. 

3. Marketing management can be characterized on consumer requirements research. 

4. Selecting markets can be named one of the aspects of marketing management. 

5. It is better to take strategic planning into consideration when managing a company. 

6. A company must have a mix of products with representation of each of these stages. 

VIII. Translate from Russian into English the following sentences. 

1. Любой организаторской системе характерны эти функции. 

2. Управление маркетинга базируется на исследовании требований потребителя. 

3. Все компании пробуют развивать долгосрочную стратегию, чтобы соответствовать изменяющимся условиям. 

4. Управление маркетинга состоит из оценки рыночных возможностей и развития рыночных стратегий. 

5. Для достижения цели необходимы знания объема продаж, доли рынка и доходности компании. 

6. Одно из основных понятий в проблемах выбора рынка и планирования продукта – это жизненный цикл продукта. 

7. В планировании маркетинга мы не должны забывать понятие круга долговечности изделия. 
IX. Write about the aspects of marketing management. 

X. Imagine you are the manager of a private company. Speak about decision – making in your business. 

Контрольная работа № 2

Вариант 8 

I. Active vocabulary: 

proprietor – частный собственник, владелец      

to expand – расширять                                          
partnership – товарищество                                  

profit – прибыль                                                    

to enter into – (зд.) принимать 

silent partner – компаньон – вкладчик 

to pool – объединять 

individual ownership – индивидуальная собственность 

to require of – требовать из 

tax – налог 

share of earnings – доля дохода 

to be liable for – нести ответственность за 

to squander – тратить 

debt – долг 
to be bound to – быть должным 

revenue – доход 

half as many … as – приблизительно половина

II. Read and translate the text. 

The Business Partnership 
When a proprietor wants to expand a business, one way to do so is to form a partnership, a business formed for profit by two or more co-owners. The rights and duties of a partnership are regulated by laws of the state where it is formed and by a legal agreement entered into by the co-owners. Usually an agreement specifies the amount of money each is investing and the duties each partner assumes. A partnership agreement also may provide for a “silent partner” who does not take part in the management, but who invests money in the business. 

The partnership has the advantage of pooling managerial talent. One partner may be qualified in production, another in marketing. The partnership, like individual ownership, is exempt from most of the reporting that the government requires of corporations. Furthermore, it has a favorable tax position when compared with the corporation. Federal taxes are paid by individual partners on their share of earnings: beyond that, the business is not taxed. 

A major disadvantage of the partnership is that each member is liable for all the debts of the partnership; the act of any partner is legally binding upon all the others. If one partner takes a large amount of money from the business and squanders it, the others must pay the debt. Partnership suffers another major disadvantage: decision – making is shared. If partners have serious and constant disagreements, the business is bound to suffer.

III. Find English equivalents to the following Russian words and word – combinations. 
    Сформировать товарищество, права и обязанности, юридическое соглашение, компаньон – вкладчик, преимущество, организаторский талант, федеральный налог, налоговое управление. 

IV. Answer the questions on the text. 

1. What does an agreement specify? 

2. What is a “silent partner”?

3. What are the advantages of the partnership? 

4. What is the difference between the partnership and the corporation?

5. How do individual partners pay federal taxes? 

6. What are the disadvantages of the partnership? 

7. Is shared decision – making an advantage or disadvantage of the partnership? 
V. Read the text again. Agree or disagree with the following statements. 

1. When a proprietor wants to expand a business, he organizes another company. 

2. Partnership is a business owned by two or more partners. 

3. A “silent partner” provides the company with clients. 

4. Federal taxes are paid by individual partners on their share of earnings. 

5. The business is bound to suffer if the partners do not discuss their future perspectives. 

6. The partnership is the smallest part of the overall business economy. 

7. There are more corporations than business partnerships.

 VI. Complete the sentences with the information from the text. 
1. The rights and duties of the partnership are regulated … 

2. A partnership agreement may provide for … 

3. Federal taxes are paid … 

4. Each member of the partnership is liable for… 

5. If one partner squanders a large amount of money from the business, … 

6. If partners have serious and constant disagreements … 

7. The Internal Revenue Service reported that … 
VII. Make the sentences negative and interrogative. 

1. The rights and duties of a partnership are regulated by laws of the state. 

2. One partner may be qualified in production, another in marketing. 

3. Federal taxes are paid by individual partners on their share of earnings. 

4. The act of any partner is legally binding upon all the others. 

5. It one partner squanders a large amount of money the others must pay the debt. 

6. If partners have constant disagreements, the business is bound to suffer. 
VIII. Write all the adjectives out of the text and write their degrees of comparison. 

IX. Translate from Russian into English the following sentences. 

1. Права и обязанности товарищества регулируются в соответствии с законами    государства. 

2. Обычно соглашение определяет сумму денег, которую каждый инвестирует, и режим работы, который каждый партнер принимает. 

3. «Компаньон - вкладчик» не принимает участия в управлении, а только вкладывает деньги в бизнес. 

4. Товарищество, подобно индивидуальной собственности, является освобожденным от большинства отчетов, которые правительство требует от корпораций. 

5. Если один партнер берет крупную сумму денег из предприятия и тратит ее, то остальные компаньоны должны заплатить долг. 

6. Товарищество остается жизненно важной частью полной деловой экономики. 
X. Imagine you are the proprietor who wants to expand the business. Tell us what you will do. 

Контрольная работа № 2

Вариант 9

I. Active Vocabulary 

according to – в соответствии с …

a legislation – законодательство 

legislative (law - making) – законодательный 

executive – исполнительный 

a chief executive – главное исполнительное лицо 

judicial – судебный 

judiciary - судебная власть, система 

a branch – ветвь (власти), отрасль (промышленности, экономики)

a house, a chamber – палата парламента 

to elect – выбирать                                            

an election – выборы                                         

a by-election – дополнительные выборы         

to support – поддерживать                                

to be subordinated to – подчиняться                                    

to appoint – назначать 

to vote – голосовать

to represent – представлять (интересы) 

to achieve – достигать 

to govern – управлять 

to summon – созывать, собрать (парламент)    

to dissolve – распускать (парламент) 
an assent – согласие, разрешение

acceptable – приемлемый

impartial – беспартийный, бесстрастный 

to introduce in, into – представлять (закон в парламент) 

to carry out – проводить в жизнь, осуществлять 

authorities – органы власти 

to consider – рассматривать (закон в парламенте)

hearings – парламентские слушания 

to make amendments, to amend – вносить поправки 

a bill – законопроект 

to initiate new legislation – вносить новый законопроект 

to examine a bill – изучать законопроект 

I. Read and translate the text. 

Britain’s Government
Britain is a parliamentary democracy with a Constitutional monarch, Queen Elizabeth II, as head of State. The country is governed in the Queen’s name by the Government. The Queen is head of the Commonwealth and temporal head of the Church of England. 

British Parliament consists of the House of Lords and the House of Commons. The Queen formally summons and dissolves Parliament, and opens each new session with a speech setting out the Government’s broad programme. She also gives formal assent to laws passed by Parliament. 

The House of Commons, which plays the major part in law-making, consists of 635 elected members of Parliament (MPs), each representing an area in England, Scotland, Wales or Northern Ireland. MPs are elected either at a general election (which must be held every five years) or at a by – election, held when a seat falls vacant because of death or resignation of the member. The minimum voting age is 18 and the voting is by secret ballot. 

The Government is formed by the political party, which can command majority in the House of Commons. Its leader becomes the Prime Minister, who chooses a number of ministers, of whom 20 or so are in the Cabinet, which is collectively responsible for all Government decisions. The second largest party becomes the official opposition with its leader and “shadow cabinet”. 

The House of Commons is presided over by the Speaker, an impartial member acceptable to the whole House. 

The House of Lords is made up of hereditary and life peers and the Lords Spirituals (two archbishops and 24 bishops of the Church of England). It is presided over by the Lord Chancellor who is head of the judiciary in England and Wales. 

Legislative measures are introduced into Parliament as Bills, usually by ministers. Bills are considered both by the House of Commons and by the House of Lords, and the necessary amendments are made. The debating procedures in the two Houses are broadly similar, and Bills approved at all stages receive the Royal Assent and become Acts of Parliament. The House of Lords may delay certain Bills, but cannot Veto them. The Acts of Parliament are carried out by executive authorities – ministries, departments, local government. 

II. Agree or disagree with the following statements.

1. Great Britain is governed in the Queen’s name by the House of Commons. 

2. MPs don’t belong to any parties. 

3. The voting at a general election in Great Britain is by secret ballot. 

4. “Shadow cabinet” is a room without windows in the House of Lords. 

5. The debating procedures in the both Houses are broadly similar. 

6. The House of Lords can Veto the Bills, approved by the House of Commons. 

7. The Government is formed by the second largest party.
 III. Match the synonyms. 

	1. to say “no” to the Bill 
	a) to insert amendments 

	2. to realize 
	b) to reject the Bill 

	3. to correct the Bill 
	c) to approve 

	4. to give the Royal Assent 
	d) to carry out 

	5. to say “yes” to the Bill
	e) to sign the Bill 


IV. Answer the questions on the text. 

1. Who is the constitutional monarch of Great Britain now? 

2. What is the relationship between the Queen and the Parliament in Britain?

3. Who may be a member of the House of Commons?

4. Is the Prime – Minister elected?

5. What is the Cabinet responsible for? 

6. Who approves the bills before they become Acts of Parliament? 

V. Whom do these functions belong? Describe the functions using the Present Simple Tense in Active Voice. 
Ex: Executive authorities carry out the Acts of Parliament. 

	executive 

authorities 
	to consist of 20 ministers 

	the Queen 
	to be impartial  

	the Prime – Minister 
	to represent an area in Great Britain 

	an MP 
	to summon and dissolve the Parliament 

	Lord Chancellor 
	may delay certain Bills 

	the Speaker 
	to be temporal head of the Church of England 

	the House of Lords 
	to preside to debates in the House of Commons 

	the House of 

Commons 
	to be the leader of the party, which can command 

the majority support in the House of Commons 

	the Cabinet 
	to be head of Judiciary in England and Wales 

	
	to consist of 635 members 

	
	to be elected every 5 years 

	
	to carry out the Acts of Parliament 


VI. Put the sentences of the previous exercise into Passive Voice. Underline the verbs. 

Ex: Executive authorities carry out the Acts of Parliament. – The Acts of the Parliament are carried out by executive authorities.
 VII. Translate the sentences from Russian into English. 
1. Выборы были проведены два года назад. 

2. Палата лордов еще не рассматривала закон, но он уже одобрен палатой 

    общин.

3. Вы уже внесли в закон необходимые поправки? 

4. Министр представил закон в парламент на прошлой неделе. 

5. К первому марта королева уже подписала законопроект, и он стал парламентским актом.  

6. Каждый год королева созывает распускает парламент. 

7. Вчера началась новая сессия британского парламента. Она была открыта традиционной тронной речью королевы Елизаветы II. 

VIII. Put the sentences into Indirect Speech. 

1. The Speaker said: “The Bill will be considered by the House of Commons next week”. 

2. The Prime – Minister told the journalists: “The new Act of Parliament will be carried out by the local authorities under the constant control of the Cabinet”. 

3. Lord Chancellor assured the Speaker: “We are going to approve the Bill as soon as possible”. 

4. The Times says: “The debating procedures in the both Houses were very long, but the Bill has finally been approved”. 

5. “The Bill received the Royal Assent last week”, the Secretary said. 

IX. How does a Bill become an Act of Parliament? Describe all steps of the law – making procedure, using the verbs and expressions, given below in Passive Voice. 
to work out               Ex: The Bill is worked out by a ministry. 
to introduce 

to study 

to discuss 

to insert amendments 

to approve 

to sign 

to carry out 

X. Draw the scheme of the state structure of Great Britain, using the information given in the text. 

Контрольная работа № 2

Вариант 10
I. Read and translate the text. 

Political System of the United States

The executive power in the USA belongs to the President and his Administration. 

President of the USA is the head of the state and the Government, he also is the Commander – in – Chief of the US Armed Forces. President is assisted by Vice – President and the Government. President and Vice – President are elected for a term of five years and can be re – elected for another term, but not longer than that. Presidential elections are held in two stages. The first stage is in November when Americans vote for the electors, and the second is in December when the electors vote for President and Vice – President. 

President conducts foreign affairs, signs treaties in the name of the USA, appoints diplomats, Cabinet members, federal judges with the consent and advice of the Senate. 

US President is assisted in Administration by a Cabinet of 12 members. Cabinet secretaries correspond to European ministers. They are heads of different departments and directly and fully responsible to the President who appoints them for an indefinite time. 

The US Congress, the lawmaking arm of the federal government, consists of two houses: the House of Representatives and the Senate. The House of Representatives, at the present time, consists of 435 members. 

The number of Representatives, which each state sends to the House, depends on its population. The Representatives are elected. According to the Constitution of the USA, all citizens of both sexes over 18 years of age have right to vote. 

Any congressmen in either house, or President, may initiate new legislation. The proposed legislation, or bill, is first introduced in the House of Representatives, then referred to one of the Standing committees, which organizes hearings on it and may approve, amend or shelve the draft. If the Committee passes the bill, it is considered by the House of Representatives as a whole. If passed there, it goes to the Senate for a similar sequence of committee hearings and general debate. 

In cases of disagreement, the House of Representatives and the Senate confer together. Once passed by the Senate as a whole, the bill has to be examined by two more standing committees – the Committee on the House Administration and the Senate Committee on Rules and Administration – and is then signed by the speaker of the House and the president of the Senate. 

Finally, it must be signed by President, who has the right to veto it. 

If President vetoes a bill, it can still become a law – but only if it is passed by a two – thirds majority in both Houses of Congress. The laws are carried out by executive authorities – ministries, departments, local government. 

II. Agree or disagree with the following statements. 

1. If President vetoes a bill, it can not become a law. 

2. In cases of disagreement, both houses confer together. 

3. President is assisted in Administration by the Senate. 

4. A proposed legislation is first introduced into the Senate. 

5. The Cabinet members are heads of different departments. 
III. Match the synonyms. 
	to pass 
	to initiate a new legislation 

	to introduce a bill 
	to delay a bill 

	to elect 
	to help 

	to shelve a bill 
	to be approved 

	to assist 
	to vote 


IV. Answer the questions on the text. 

1. Who is the head of executive power in the US? 

2. How is the President election held? 

3. Who assists President in Administration? 

4. Are the members of the Cabinet elected or appointed? 

5. Whom are they subordinated? 

6. How can a bill become a law, if President vetoes it? 

7. Who has the right to vote for the Representatives of the states? 
V. Whom do these functions belong? Describe the functions using the Present Simple Tense in Active Voice. 
Ex: Presidents is head of state and the Government. 
	President 
	to initiate a new legislation 

	The Cabinet 
	to amend a bill 

	The Senate 
	to be head of state and the Government 

	The House of 

Representatives 
	to be directly responsible to President 

	A congressman 
	to assist President in Administration 

	The Standing committees 
	to appoint diplomats 

	
	to be heads of different departments 

	
	to appoint federal judges 

	
	to be elected for a term of five years 

	
	to appoint Cabinet members 


VI. Put the sentences of the previous exercise into Passive Voice, where possible. Underline the verbs.

 Ex: President appoints diplomats – Diplomats are appointed by President. 
VII. Translate the sentences from Russian into English.  
 1. Конгрессмен представил закон в палату представителей на прошлой неделе. 

 2. Президентские выборы были проведены два года назад. 

 3. Сенат еще не рассматривал законопроект, но он уже одобрен палатой представителей. 

 4. Вы уже внесли поправки в законопроект? 

 5. Новый законопроект прошел слушания в комитете и будет рассмотрен палатой представителей завтра. 

 6. Слушания по законопроекту были организованы нашим комитетом, мы также внесли в законопроект несколько поправок. 

 7. Президент является верховным главнокомандующим Соединенных Штатов. 
VIII. Put the sentences into Indirect Speech. 
1. The Speaker said: “The Bill will be considered by the House of Representatives next week”. 

2. The President told the journalists: “The new law will be carried out by the local authorities under the constant control of the Cabinet”. 

3. The President of the Senate assured the Speaker: “We are going to approve the Bill as soon as possible”.  

4. The Washington Post says: “The debating procedures in the both Houses were very long, but the Bill has finally been approved”.

5. “The Bill was signed by the President last week”, the Secretary said. 
IX. How does a Bill become a Law? Describe all steps of the law – making procedure, using the verbs and expressions, given below in Passive Voice. 
to initiate          Ex: A new legislation is initiated by a congressman. 
to introduce 

to examine 

to consider 

to amend 

to approve 

to sign 

to carry out 
X. Draw the scheme of the state structure of the United States, using the information given in the text. 

